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) BIHEEA p = 0.00003, EEXEEAS n = 100000
D _IEN% @%ﬁﬁ@

E(X) = np = 100000 x 0.00003 = 3

ZDEE, £=0,1,2,3,4, 55D ERERIL
TNIEENSKGESED?
LML, TOERDEFREIEKRE !

£(5) = 100000C5(0.00003)°(0.99997)7999°
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RT7VDINEID ;LB (Poisson’s law of small
numbers): p = A/n IZ®LT,
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nO:cpx(l . p)n—w

EBH - (n = 00)

lim ,,C, (i) (1 — é)
n— oo n n
_ n! A\ A\
= zl(n —x)! (5) (1 B ﬁ)
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7Y 5% (Poisson distribution):
e—AAm
flz) = -
e PO\ TRTEMNZL

f(z) P EEBBTHD LD
o f(z) >0 [ZEASH
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Mx(t) = exp{A(e' — 1)}
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8 M 1845 %1 (negative binomial distribution):
RRINFERMN p DEERIC *TL’C kBB DRNZERES
EFTOREDEIZL z DIERED T

f(@) = kra—1Cep"(1 —p)* for 2 =0,1,2,...
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INAHIL 5> Fa(Pascal distribution) &+ A8,
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BEO_ESHMOLRORAE: B0 _IEZRL

o ZIRRIK
axX(a—1)x---x(a—x+1)
X (x—1)x---x1

o BN TIHRE
_kO = (_]-)wk—l—a:—lc k‘ — ]_ 2, « o

# f(@) = _kCop®(p— 1)°

“IREEFAETHRYILD:

i Cot® = (1+1t
x=0

aC:r: —

a=1,2,...
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f(@) = _kCup"(p—1)*
f(z) PRI THDZEDEEH
e f(x) >0 IXBALL
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Ta=—-k, t=p—1&EITIL,
Z—kcw(p_ 1)* :p_k
=0

Nkl Z flz) =p" Z _xCr(p—1)°
x=0 =0
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f(2) = jhyo1Cep®(1 —p)* forz=0,1,2,...

4 (0] 43 ¥ (Geometric distribution) : R JLX—AHITD

yﬂ’&aﬁbh\b&)&&)&b\’c FOTRIIT HETD
1T 7!3?5( T 5

flx)y=pl—p)* "' forz=1,2,...
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SOZIESMOEREFEY, AFE, 280 RDKIIC
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Mx (t) = p*{1 - (1 —p)e'} 7"
E(X)=k(1-p)/p
V(X)=k(1-p)/p’

Ek: 0



